

$$\cos^2 x = \frac{1}{2} \sin x - 1$$

$$1 - \frac{1}{2} \sin^2 x = \frac{1}{2} \sin x - 1$$

$$\frac{1}{2} \sin^2 x + \frac{1}{2} \sin x - 2 = 0$$

$$\sin^2 x + \sin x - 4 = 0$$

$$(\sin x + 2)(\sin x - 2) = 0$$

$$\sin x = -2 \quad \text{or} \quad \sin x = 2$$

$$\sin x = \frac{1}{2}$$

$$\rightarrow x \in \left\{ \frac{\pi}{6}, \frac{5\pi}{6} \right\}$$

$$\rightarrow x \in \left\{ \frac{\pi}{6}, \frac{5\pi}{6}, \frac{7\pi}{6}, \frac{11\pi}{6} \right\}$$

$$\rightarrow \cos^2 x + \cos x - 2 = 0$$

$$\cos^2 x - 1 + \cos x - 1 = 0$$

$$\cos^2 x + \cos x - 2 = 0$$

$$(\cos x + 2)(\cos x - 1) = 0$$

$$\cos x = -2 \quad \text{or} \quad \cos x = 1$$

$$\cos x = \frac{1}{2}$$

$$\cos x = \frac{1}{2}$$

$$\cos x = 1 \rightarrow x \in \{0, 2\pi\}$$

$$\sin^2 x - \cos^2 x = \sin x$$

$$(\sin^2 x - \cos^2 x) = \sin x$$

$$\sin^2 x = -\cos^2 x$$

$$\sin^2 x = -1 \rightarrow \sin x = \pm i$$

$$\sin x = i \quad \text{or} \quad \sin x = -i$$

$$x = \frac{\pi}{2} + 2k\pi \quad \text{or} \quad x = \frac{3\pi}{2} + 2k\pi$$

$$x = \frac{\pi}{2} + 2k\pi$$

$$x = \frac{3\pi}{2} + 2k\pi$$

$$\cos x = 0$$

$$x \in \left\{ \frac{\pi}{2}, \frac{3\pi}{2} \right\}$$

$$\cos^2 x + \sin^2 x = 1$$

$$\cos^2 x + \sin^2 x = 1$$

$$\cos^2 x = -\sin^2 x$$

$$x \in \left\{ \frac{\pi}{2}, \frac{3\pi}{2} \right\}$$

$$x \in \left\{ \frac{\pi}{2}, \frac{3\pi}{2} \right\}$$

$$\frac{\cos^2 x}{\sin^2 x} = \frac{1}{\sin^2 x}$$

$$\frac{\cos^2 x}{\sin^2 x} = \frac{1}{\sin^2 x} \rightarrow \cos^2 x = 1$$

$$\sin x \neq 0$$

$$\cos^2 x + \cos x - 2 = 0$$

$$(\cos x + 2)(\cos x - 1) = 0$$

$$\cos x = -2 \quad \text{or} \quad \cos x = 1$$

$$\cos x = 1$$

$$\cos x = \frac{1}{2} \rightarrow x \in \left\{ \frac{\pi}{3}, \frac{5\pi}{3} \right\}$$

$$\sin^2 x - \cos^2 x = \sin x$$

$$\sin^2 x + \cos^2 x = 1$$

$$\sin^2 x - \cos^2 x = \sin x$$

$$\cos^2 x + \sin^2 x = 1$$

$$\cos^2 x (\cos^2 x + \sin^2 x) = 0$$

$$\cos^2 x = 0$$

$$\sin^2 x = 0$$

$$x \in \left\{ \frac{\pi}{2}, \frac{3\pi}{2} \right\}$$

$$x \in \left\{ \frac{\pi}{2}, \frac{3\pi}{2} \right\}$$

$$x \in \left\{ \frac{\pi}{2}, \frac{3\pi}{2} \right\}$$

$$\cos\left(\frac{R}{F} + \pi\right) \cos\left(\pi - \frac{R}{F}\right) = \frac{1}{F}$$

$$\cos\left(\pi - \frac{R}{F}\right) = \cos\left(\frac{R}{F} - \pi\right)$$

$$\frac{R}{F} - \pi + \frac{R}{F} + \pi = \frac{R}{F} \rightarrow \text{مساواة}$$

$$\sin\left(\pi + \frac{R}{F}\right) \cos\left(\pi + \frac{R}{F}\right) = \frac{1}{F}$$

$$\frac{1}{F} \sin\left(\pi + \frac{R}{F}\right) = \frac{1}{F}$$

$$\sin\left(\pi + \frac{R}{F}\right) = \frac{1}{F} \cdot \frac{R}{F}$$

$$\pi + \frac{R}{F} = \pi R + \frac{R}{F} \rightarrow \pi \in \pi R + \frac{R}{F}$$

$$\pi + \frac{R}{F} = \pi R - \frac{R}{F} \rightarrow \pi \in \pi R - \frac{R}{F}$$

$$\pi \in \pi R \pm \frac{R}{F}$$

$$\frac{\sin \pi x + \sin \pi x}{\sin \pi x} = \sin \pi x + \cos \pi x$$

$$\sin \pi x + \sin \pi x = \sin \pi x$$

$$\sin \pi x + \sin \pi x = \sin \pi x$$

$$\frac{\sin \pi x \cos \pi x + \sin \pi x}{\sin \pi x} = 1$$

$$\frac{\sin \pi x (\cos \pi x + 1)}{\sin \pi x} = \cos \pi x + 1$$

$$\cos \pi x + 1 = 1$$

$$\cos \pi x = 0 \rightarrow \pi x \in \pi R + \frac{\pi}{2}$$

$$\pi \in \pi R + \frac{\pi}{2}$$

$$x \in \mathbb{R} \pm \frac{\pi}{2}$$

$$\frac{\sin x + \sin x}{\sin x} = \sin x + \cos x$$

$$\sin x + \sin x = \sin x$$

$$\rightarrow \frac{r \sin x \cos x + \sin x}{\sin x} = 1$$

$$\frac{\sin x (r \cos x + 1)}{\sin x} = r \cos x + 1$$

$$r \cos x + 1 = 1$$

$$\cos x = 0 \rightarrow x \in \mathbb{R} \pm \frac{\pi}{2}$$

$$\frac{\sin \frac{x}{r}}{1 + \cos \frac{x}{r}} = \frac{1}{\sin \frac{x}{r}} + \cot \frac{x}{r}$$

$$\frac{\sin \frac{x}{r}}{1 + \cos \frac{x}{r}} = \frac{1 - \cos \frac{x}{r}}{\sin \frac{x}{r}} \Rightarrow \tan \frac{x}{r} = \frac{1}{\tan \frac{x}{r}}$$

$$\tan \frac{x}{r} = 1 \rightarrow \tan \frac{x}{r} = \pm 1 \rightarrow \frac{x}{r} \in \mathbb{R} \pm \frac{\pi}{4}$$

$$\left. \begin{array}{l} x \in \mathbb{R} \pm \frac{\pi}{4} \\ -\pi \leq x \leq \pi \end{array} \right\} \rightarrow x = -\pi, -\frac{3\pi}{4}, -\frac{\pi}{4}, 0, \frac{\pi}{4}, \frac{3\pi}{4}, \pi$$

$$(x) = R - (-R) = 2R$$

$$\cos x - \sin x \cos x = 1$$

$$- \sin x (1 + \cos x) = 0$$

$$\sin x = 0$$

$$\cos x = -1$$

$$x \in \mathbb{R}$$

$$x \in \mathbb{R} \pm \frac{\pi}{2}$$

$$[0, \pi] \rightarrow 0, \pi, \frac{\pi}{2}, \frac{3\pi}{2}$$

$$\frac{1 - \epsilon \alpha n}{1 + \epsilon \alpha n} = \tanh^n \alpha \rightarrow \frac{\tanh^2 \alpha - \tanh \alpha}{1 + (\tanh^2 \alpha \times \tanh \alpha)} = \tanh^n \alpha$$

$$\tanh\left(\frac{R}{\epsilon} - n\right) = \tanh^n \alpha \rightarrow \frac{R}{\epsilon}$$

$$\begin{aligned} \alpha R &= K R + \frac{R}{\epsilon} - n \\ R \alpha &= K R + \frac{R}{\epsilon} \rightarrow \alpha = K + \frac{1}{\epsilon} \end{aligned}$$

$$\sqrt{1 + \sin^2 \alpha} = \sqrt{r} \cos r \quad [\cos r] \quad -9$$

$$1 + \sin^2 \alpha = r \cos^2 \alpha \rightarrow 1 + \sin^2 \alpha = r - r \sin^2 \alpha$$

$$r \sin^2 \alpha + \sin^2 \alpha - 1 = 0$$

$$\sin^2 \alpha + \sin^2 \alpha - r = 0$$

$$(\sin^2 \alpha + r) (\sin^2 \alpha - 1) = 0$$

$$\sin^2 \alpha = -r \quad \sin^2 \alpha = 1$$

$$\sin^2 \alpha = -1 \rightarrow r \in \mathbb{R} \text{ and } \frac{r}{2} \rightarrow r \in \mathbb{R} \text{ and } \frac{r}{2}$$

$$\sin^2 \alpha = \frac{1}{r} \rightarrow r \in \mathbb{R} \text{ and } \frac{r}{2} \rightarrow r \in \mathbb{R} \text{ and } \frac{r}{2} \rightarrow \frac{r}{2} \in \mathbb{R} \text{ and } \frac{r}{2} \rightarrow \frac{r}{2} \in \mathbb{R} \text{ and } \frac{r}{2}$$

$$[\cos r] \quad -10$$

$$\sin^2 \alpha - \cos^2 \alpha = 1$$

$$(\sin^2 \alpha + \cos^2 \alpha) (\sin^2 \alpha - \cos^2 \alpha) = 0 \rightarrow \cos^2 \alpha = -1 \rightarrow r \in \mathbb{R} \text{ and } \frac{r}{2} \rightarrow r \in \mathbb{R} \text{ and } \frac{r}{2}$$

در اینجا در این روش به دست می آید

$$\sin^2 \alpha - \cos^2 \alpha = -1$$

$$\alpha = 0 \rightarrow 0 - 1 = -1 \quad \checkmark$$

$$\alpha = \frac{\pi}{2} \rightarrow 1 - 0 = 1 \quad \times$$

$$\alpha = \pi \rightarrow 0 - (-1) = 1 \quad \times$$

$$\alpha = \frac{3\pi}{2} \rightarrow -1 - 0 = -1 \quad \checkmark$$

$$\alpha = r \in \mathbb{R} \rightarrow 0 - 1 = -1 \quad \checkmark$$

$$\rightarrow [\cos r] \rightarrow r \in \mathbb{R} \text{ and } \frac{r}{2}$$